
POWER AND SIGNAL INTEGRATED 
CONNECTOR  AND CABLE 
(RETRACTABLE)

 
23.80
604.6  

 
13.39
340.0  

 
27
694  

 
.32
8.1  

 
15.44
392.2  

1.41
35.7  MINIMUM
CABLE HEIGHT

2.06
52.2  MAXIMUM
CABLE HEIGHT

 
2.85
72.4  

 
2.36
60.0  

M5x0.8 
THREADED 

HOLE

REMOVABLE ALIGNMENT PINS
(REMOVE FOR TOP ROW TRIM)

AC POWER INPUT DATA INPUT

M5x0.8 THREADED HOLE

CHAMFERED HOLE FOR 
DEPTH ADJUSTMENT

.26
6.5 FOR M5

CONNECTION SCREWS

DATA OUTPUTAC POWER OUTPUT

M8x1.25 FOR VERTICAL 
ADJUSTMENT SET SCREWS

M8x1.25 FOR DEPTH 
ADJUSTMENT SET 

SCREWS

RJ45 DATA CONNECTION
(INTERNAL RECONFIGURATION REQUIRED)

STATUS LCD

CARRY HANDLES

KEEP PERFORATED AREAS
CLEAR FOR AIRFLOW

.26
6.5

FOR M5
SCREW

M8x1.25 FOR 
ADJUSTMENT 
SET SCREW

ALTERNATE AC POWER INPUT
(USE FOR TOP ROW AND ADDING
POWER MID COLUMN, INTERNAL
RECONFIGURATION REQUIRED)

REVISION HISTORY
ECO ZONE REV. DESCRIPTION DATE APPR'D

A INITIAL RELEASE 1/9/2019 MAZ
B ADDED WALL MOUNT BRACKETS 10/17/2019 MRW

C ADDED ALTERNATE AC POWER INPUT AND UPDATED 
FLAT TOP TRIM 2/21/2020 MRW

12345678

12345678

AA

BB

CC

DD

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO PLANAR SYSTEMS, INC., ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN PERMISSION OF PLANAR SYSTEMS
IS PROHIBITED. THIS DRAWING IS SUPPLIED FOR INFORMATION, IDENTIFICATION, ENGINEERING, EVALUATION, AND/OR INSPECTION PURPOSES ONLY AND MAY NOT BE USED AS BASIS
FOR THE MANUFACTURING OF PRODUCTS OR THE FURNISHING OF SERVICES TO PLANAR SYSTEMS OR TO ANY THIRD PARTY UNLESS AUTHORIZED IN WRITING BY PLANAR SYSTEMS.

TOLERANCES:

ENGR BY

DRAWN BY

CHECKED BY

USED ON

MATERIAL

FINISH

MAZ

 

 
 
 

1/9/2019
PLANAR SYSTEMS, INC.
1195 NE COMPTON DRIVE
HILLSBORO, OR 97006 USA

TVF
PRODUCT OUTLINE

TITLE

SIZE

D
PART NO.

 - 
DRAWING NO.

-
REV

 
SCALE

1:2 DO NOT SCALE
SHEET

1 OF 7

050-0218-02 REV B

THIRD ANGLE PROJECTION

DIMENSIONING AND TOLERANCING PER
ASME Y14.5M-1994

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS [INCHES].

=  ±1°

XX=  ±.25

.X=  ±.5

X=  ±1

  
 
 

CUSTOM CABLE REQUIRED FOR FIRST CABINET CONNECTION.2.

SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.1.

NOTES: UNLESS OTHERWISE SPECIFIED.



 
6.69
170.0  

ALIGNMENT PINS

MAGNETIC MOUNTS

MAGNETIC MOUNTS

MODULE EXTRACTION LEVERS

 
11.90
302.3  

 
.92
23.4  

 
.44
11.1  

 
.72
18.4  TVF MODULE

12345678

12345678

AA

BB

CC

DD

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO PLANAR SYSTEMS, INC., ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN PERMISSION OF PLANAR SYSTEMS
IS PROHIBITED. THIS DRAWING IS SUPPLIED FOR INFORMATION, IDENTIFICATION, ENGINEERING, EVALUATION, AND/OR INSPECTION PURPOSES ONLY AND MAY NOT BE USED AS BASIS
FOR THE MANUFACTURING OF PRODUCTS OR THE FURNISHING OF SERVICES TO PLANAR SYSTEMS OR TO ANY THIRD PARTY UNLESS AUTHORIZED IN WRITING BY PLANAR SYSTEMS.

SIZE

D
PART NO.

 - 
DRAWING NO.

-
REV

C
SCALE

1:1 DO NOT SCALE
SHEET

2 OF 7

050-0218-02 REV B

SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.1.

NOTES: UNLESS OTHERWISE SPECIFIED.



 
26.77
680.0   

1.57
39.8  

 
11.82
300.2  

 
.78
19.9  

 
.78
19.9   

22.24
564.8   M5X0.8 15.0[.59] 

 
47.60
1209.1  

 
1.56
39.8  

CARRY HANDLES

REAR ACCESS MOUNTING

ALTERNATE POWER
CABLE LOCATION
(USE FOR TOP ROW
AND ADDING POWER
MID COLUMN, INTERNAL
RECONFIGURATION
REQUIRED)

12345678

12345678

AA

BB

CC

DD

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO PLANAR SYSTEMS, INC., ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN PERMISSION OF PLANAR SYSTEMS
IS PROHIBITED. THIS DRAWING IS SUPPLIED FOR INFORMATION, IDENTIFICATION, ENGINEERING, EVALUATION, AND/OR INSPECTION PURPOSES ONLY AND MAY NOT BE USED AS BASIS
FOR THE MANUFACTURING OF PRODUCTS OR THE FURNISHING OF SERVICES TO PLANAR SYSTEMS OR TO ANY THIRD PARTY UNLESS AUTHORIZED IN WRITING BY PLANAR SYSTEMS.

SIZE

D
PART NO.

-
DRAWING NO. REV

C
SCALE

1:2 DO NOT SCALE
SHEET

3 OF 7

050-0218-02 REV B

-

ENSURE THE DISPLAYS ARE MOUNTED FLAT, LEVEL, AND 2.
PLUMB.

SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.1.

NOTES: UNLESS OTHERWISE SPECIFIED.



.26
6.5 THRU

USE M5 SHCS

.40
10.1

TOOL
CLEARANCE

 
10.87
276.2  

 
2.51
63.8  

 
22.24
564.8   

1.56
39.8  

 
26.77
680.0  

 M8X1.25 FOR CABINET Z-AXIS ALIGNMENT 

 
47.60
1209.1  

 
.78
19.9  

 
1.26
31.9  

MODULE 
ALIGNMENT 
HOLE

MODULE MOUNT MAGNETS
PLUG RETRACTION 
LEVER

MODULE 
INTERFACE

FRONT ACCESS MOUNTING

POWER SUPPLY

HUB
BOARD

RECEIVER
CARD

 
2.13
54.0   

.49
12.4  

12345678

12345678

AA

BB

CC

DD

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO PLANAR SYSTEMS, INC., ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN PERMISSION OF PLANAR SYSTEMS
IS PROHIBITED. THIS DRAWING IS SUPPLIED FOR INFORMATION, IDENTIFICATION, ENGINEERING, EVALUATION, AND/OR INSPECTION PURPOSES ONLY AND MAY NOT BE USED AS BASIS
FOR THE MANUFACTURING OF PRODUCTS OR THE FURNISHING OF SERVICES TO PLANAR SYSTEMS OR TO ANY THIRD PARTY UNLESS AUTHORIZED IN WRITING BY PLANAR SYSTEMS.

SIZE

D
PART NO.

-
DRAWING NO.

-
REV

C
SCALE

1:2 DO NOT SCALE
SHEET

4 OF 7

050-0218-02 REV B

ENSURE THE DISPLAYS ARE MOUNTED FLAT, LEVEL, AND 2.
PLUMB.

SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.1.

NOTES: UNLESS OTHERWISE SPECIFIED.



 
1.78±.22
45.3±5.5  

B

4X
.43
11.0 

TOOL CLEARANCE FOR
REAR ACCESS MOUNTING

 
46.04
1169.4  

 
11.82
300.3  

 
13.39
340.0  

 
13.39
340.0  

 
13.39
340.0  

 
11.82
300.3  

 
26.18
665.0   

46.04
1169.4  

 
119.02
3023.0  

 
66.93
1700.0  

A

CENTER BRACKETS CENTER BRACKETSWALL MOUNT BRACKETS

 
1.19
30.2  

 
3.09
78.4  

 
3.09
78.4  

 
.81
20.7  

 
1.63
41.4  

 
.75
19.0  

3X
.21

5.3
MOUNT TO WALL

4X
.22

5.5
REAR ACCESS MOUNTING

3X 5.5 0.22  X 11.0 0.43  THRU
MOUNT TO WALL

8X M5X0.8 6.0 [.24]
FRONT ACCESS MOUNTINGDETAIL A

SCALE 1 : 1

DETAIL B
SCALE 2 : 1

ALIGN PIN WITH NOTCH
TO SET NOMINAL POSITION

12345678

12345678

AA

BB

CC

DD

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO PLANAR SYSTEMS, INC., ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN PERMISSION OF PLANAR SYSTEMS
IS PROHIBITED. THIS DRAWING IS SUPPLIED FOR INFORMATION, IDENTIFICATION, ENGINEERING, EVALUATION, AND/OR INSPECTION PURPOSES ONLY AND MAY NOT BE USED AS BASIS
FOR THE MANUFACTURING OF PRODUCTS OR THE FURNISHING OF SERVICES TO PLANAR SYSTEMS OR TO ANY THIRD PARTY UNLESS AUTHORIZED IN WRITING BY PLANAR SYSTEMS.

SIZE

D
PART NO.

-
DRAWING NO. REV

C
SCALE

1:4 DO NOT SCALE
SHEET

5 OF 7

050-0218-02 REV B

-

ENSURE THE DISPLAYS ARE MOUNTED FLAT, LEVEL, AND 2.
PLUMB.

SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.1.

NOTES: UNLESS OTHERWISE SPECIFIED.



 
3.15
80.0  

 
2.52
64.0  

 
1.57
40.0  

M5x0.8 Tapped Hole

 
2.36
60.0  

CENTER BRACKET

12345678

12345678

AA

BB

CC

DD

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO PLANAR SYSTEMS, INC., ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN PERMISSION OF PLANAR SYSTEMS
IS PROHIBITED. THIS DRAWING IS SUPPLIED FOR INFORMATION, IDENTIFICATION, ENGINEERING, EVALUATION, AND/OR INSPECTION PURPOSES ONLY AND MAY NOT BE USED AS BASIS
FOR THE MANUFACTURING OF PRODUCTS OR THE FURNISHING OF SERVICES TO PLANAR SYSTEMS OR TO ANY THIRD PARTY UNLESS AUTHORIZED IN WRITING BY PLANAR SYSTEMS.

SIZE

D
PART NO.

-
DRAWING NO.

-
REV

C
SCALE

1:5 DO NOT SCALE
SHEET

6 OF 7

050-0218-02 REV B

SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.1.

NOTES: UNLESS OTHERWISE SPECIFIED.



M8-TO-M5
THREAD INSERT

TOP TRIM

SIDE TRIM
(RIGHT)

SIDE TRIM
(LEFT)

BOTTOM TRIM

PINS ARE USED FOR ALIGNMENT
ON THE BACK OF THE CABINET

 
3.78
96.0  

 
13.38
339.8  

 
3.78
96.0  

 
23.80
604.4  

 
3.78
96.0  

 
23.80
604.4  

SIDE TRIM

BOTTOM TRIM

TOP TRIMTRIM INSTALLATION

12345678

12345678

AA

BB

CC

DD

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO PLANAR SYSTEMS, INC., ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN PERMISSION OF PLANAR SYSTEMS
IS PROHIBITED. THIS DRAWING IS SUPPLIED FOR INFORMATION, IDENTIFICATION, ENGINEERING, EVALUATION, AND/OR INSPECTION PURPOSES ONLY AND MAY NOT BE USED AS BASIS
FOR THE MANUFACTURING OF PRODUCTS OR THE FURNISHING OF SERVICES TO PLANAR SYSTEMS OR TO ANY THIRD PARTY UNLESS AUTHORIZED IN WRITING BY PLANAR SYSTEMS.

SIZE

D
PART NO.

-
DRAWING NO. REV

SCALE
1:2 DO NOT SCALE

SHEET
7 OF 7

050-0218-02 REV B

- C

KEEP PERFORATION AREAS CLEAR FOR VENTILATION.7.

SIDE TRIM IS UNIVERSAL AND IS INSTALLED ON THE LEFT 6.
AND RIGHT SIDE.

M8-TO-M5 THREAD INSERT IS ONLY INSTALLED IN THE 5.
BOTTOM AND LEFT TRIM POSITIONS.

REMOVE ALIGNMENT PINS FROM CABINETS ON THE TOP 4.
ROW PRIOR TO TRIM INSTALLATION.

CONNECTOR ON THE TOP CABINET MUST BE IN THE 3.
RETRACTED POSITION PRIOR TO TRIM INSTALLATION.

ENSURE THE DISPLAYS ARE MOUNTED FLAT, LEVEL, AND 2.
PLUMB.

SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.1.

NOTES: UNLESS OTHERWISE SPECIFIED.


	Cabinet
	Drawing View1
	Alternate Position1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View14
	Drawing View27

	Module
	Drawing View17
	Drawing View18
	Drawing View20
	Drawing View24

	Rear Access Mounting
	Drawing View6
	Drawing View26

	Front Access Mounting
	Drawing View11
	Drawing View25

	Wall Mount Brackets
	Drawing View88
	Drawing View91
	Drawing View94
	Drawing View101
	Detail View A (1 : 1)
	Detail View B (2 : 1)

	Center Brackets
	Drawing View41
	Drawing View42
	Drawing View46
	Drawing View47
	Drawing View48

	Trim
	Drawing View28
	Drawing View38
	Drawing View39
	Drawing View40
	Drawing View92
	Drawing View93
	Drawing View97
	Drawing View98


